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Solution to Problem Set1
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The Owner 's Handbook recommends
starting with the "innermost

"

quantity first. Iguess I'll
start with 0+9 .
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4. and 5. were problems ofyourchoice . In class I showed f
two formulae for the volume o

the upper reservoir
.



4. A naive way
ofgetting

the volume of the upper reservoir

The volume of a pyramid is §t.w.tn .

Think of the reservoir as a truncated

pyramid
µ

result is in
cubic feet
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units are in feet
5. A much more sophisticatedestimate .
This formula was easy toget usingcalculus ( an integral) .

d
p

p p

l.w.tn/-l.s.h+w.s.htEgs?hd--7s-ftw'-s-ofts--iz.5fth--8ft
Result is 44166.67ft }

or about 44000ft
}

This formula also works if the reservoir
water height, h, is less than 8ft .


